

County Distribution Detail Report through 05/03/2022

Aurora

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	966	1,958	22	2,946	\$3,682.50	\$87.91	\$3,594.59	0.70	\$2,516.21
							Entity Tota	ıl:	\$2,516.21
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$2,516.21
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	3,274	10,913	535	14,722	\$18,402.50	\$383.12	\$18,019.38	0.70	\$12,613.57
							Entity Tota	ıl:	\$12,613.57
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$12,613.57
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	871	1,300	6	2,177	\$2,721.25	\$60.26	\$2,660.99	0.70	\$1,862.69
							Entity Tota	d:	\$1,862.69
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$1,862.69
Bon Homme									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	1,659	4,093	13	5,765	\$7,206.25	\$145.19	\$7,061.06	0.70	\$4,942.74
							Entity Tota	d:	\$4,942.74

\$0.00

Adjustment:

Total Amount: \$4,942.74

Brookings

Brookings									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	10,401	22,196	255	32,852	\$41,065.00	\$855.59	\$40,209.41	0.70	\$28,146.59
							Entity Tot	al:	\$28,146.59
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$28,146.59
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	8,326	27,293	850	36,469	\$45,586.25	\$1,003.98	\$44,582.27	0.70	\$31,207.59
							Entity Tot	al:	\$31,207.59
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$31,207.59
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	2,056	3,803	81	5,940	\$7,425.00	\$150.69	\$7,274.31	0.70	\$5,092.02
							Entity Tot	al:	\$5,092.02
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$5,092.02
Buffalo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	516	480	3	999	\$1,248.75	\$26.26	\$1,222.49	0.70	\$855.74
							Entity Tot	al:	\$855.74
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$855.74
Butte									
Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	2,113	6,772	42	8,927	\$11,158.75	\$240.54	\$10,918.21	0.70	\$7,642.75

							Entity Tota	al:	\$7,642.75
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$7,642.75
Campbell									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	612	1,447	14	2,073	\$2,591.25	\$53.14	\$2,538.11	0.70	\$1,776.68
							Entity Tot	al:	\$1,776.68
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,776.68
Charles Mix									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	2,405	5,701	24	8,130	\$10,162.50	\$205.46	\$9,957.04	0.70	\$6,969.93
							Entity Tota	al:	\$6,969.93
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$6,969.93
City of Box Elder, M	eade Co								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	276	3,043	89	3,408	\$4,260.00	\$85.48	\$4,174.52	0.70	\$2,922.16
							Entity Tota	al:	\$2,922.16
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$2,922.16
City of North Sioux	City, Uni								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	583	2,899	96	3,578	\$4,472.50	\$103.39	\$4,369.11	0.70	\$3,058.38
							Entity Tota	al:	\$3,058.38
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$3,058.38

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	3,257	11,740	222	15,219	\$19,023.75	\$390.42	\$18,633.33	0.70	\$13,043.33
							Entity Tota	al:	\$13,043.33
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$13,043.33
City of Sioux Falls, L	incoln (
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	4,296	27,309	2,668	34,273	\$42,841.25	\$861.47	\$41,979.78	0.70	\$29,385.85
							Entity Tota	al:	\$29,385.85
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$29,385.85
Clark									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	1,142	2,455	39	3,636	\$4,545.00	\$98.76	\$4,446.24	0.70	\$3,112.37
							Entity Tota	al:	\$3,112.37
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$3,112.37
Clay									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	1,531	7,863	254	9,648	\$12,060.00	\$259.17	\$11,800.83	0.70	\$8,260.58
							Entity Tota	al:	\$8,260.58
							Adjustmen	nt:	\$0.00

Codington

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	6,289	20,164	1,103	27,556	\$34,445.00	\$737.97	\$33,707.03	0.70	\$23,594.92

Total Amount:

\$23,594.92

\$8,260.58

							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$23,594.92
Corson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	955	893	317	2,165	\$2,706.25	\$55.88	\$2,650.37	0.70	\$1,855.26
							Entity Tota	al:	\$1,855.26
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,855.26
Custer									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	2,977	6,325	54	9,356	\$11,695.00	\$261.26	\$11,433.74	0.70	\$8,003.62
							Entity Tota	al:	\$8,003.62
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$8,003.62
Davison									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	4,302	14,537	351	19,190	\$23,987.50	\$496.82	\$23,490.68	0.70	\$16,443.48
							Entity Tota	al:	\$16,443.48
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$16,443.48
Day									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	1,739	3,635	60	5,434	\$6,792.50	\$137.83	\$6,654.67	0.70	\$4,658.27
							Entity Tota	al:	\$4,658.27
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,658.27
Deuel									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

3/2022	1,474	3,040	92	4,606	\$5,757.50	\$123.43	\$5,634.07	0.70	\$3,943.85
							Entity Tota	I:	\$3,943.85
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$3,943.85
Douglas									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	1,053	2,185	15	3,253	\$4,066.25	\$85.26	\$3,980.99	0.70	\$2,786.69
							Entity Tota	I:	\$2,786.69
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$2,786.69
Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	1,110	3,021	44	4,175	\$5,218.75	\$105.08	\$5,113.67	0.70	\$3,579.57
							Entity Tota	I:	\$3,579.57
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$3,579.57
Fall River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	2,689	4,870	31	7,590	\$9,487.50	\$197.41	\$9,290.09	0.70	\$6,503.06
							Entity Tota	I:	\$6,503.06
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$6,503.06
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	673	1,512	27	2,212	\$2,765.00	\$57.15	\$2,707.85	0.70	\$1,895.50
							Entity Tota	I:	\$1,895.50
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$1,895.50

Grant

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	1,771	5,426	84	7,281	\$9,101.25	\$184.73	\$8,916.52	0.70	\$6,241.56
							Entity Tota	l:	\$6,241.56
							Adjustmen	t:	\$0.00
							Total Amo	int:	\$6,241.56

Gregory

Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1,504	3,527	7	5,038	\$6,297.50	\$138.24	\$6,159.26	0.70	\$4,311.48
						Entity Tota	l:	\$4,311.48
						Adjustmen	t:	\$0.00
						Total Amou	int:	\$4,311.48
			Lines	Lines	Lines	Lines	Lines 1,504 3,527 7 5,038 \$6,297.50 \$138.24 \$6,159.26 Entity Tota Adjustment	Lines Percent

Haakon

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	930	1,359	6	2,295	\$2,868.75	\$57.64	\$2,811.11	0.70	\$1,967.78
							Entity Tota	l:	\$1,967.78
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$1,967.78

Hamlin

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	1,396	4,154	45	5,595	\$6,993.75	\$140.81	\$6,852.94	0.70	\$4,797.06
							Entity Tota	I:	\$4,797.06
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$4,797.06
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	965	2,652	50	3,667	\$4,583.75	\$100.91	\$4,482.84	0.70	\$3,137.99

							Entity Tota	al:	\$3,137.99
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,137.99
Hanson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	766	3,165	78	4,009	\$5,011.25	\$113.27	\$4,897.98	0.70	\$3,428.59
							Entity Tota	al:	\$3,428.59
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,428.59
Harding									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	632	871	1	1,504	\$1,880.00	\$48.06	\$1,831.94	0.70	\$1,282.36
							Entity Tota	al:	\$1,282.36
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,282.36
Hughes									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	583	3,198	170	3,951	\$4,938.75	\$140.33	\$4,798.42	0.70	\$3,358.89
							Entity Tota	al:	\$3,358.89
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,358.89
Hutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	2,549	5,256	36	7,841	\$9,801.25	\$201.25	\$9,600.00	0.70	\$6,720.00
							Entity Tota	al:	\$6,720.00
							Adjustmer	nt:	\$0.00

Total Amount:

\$6,720.00

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	562	1,084	12	1,658	\$2,072.50	\$41.97	\$2,030.53	0.70	\$1,421.37
							Entity Tota	l:	\$1,421.37
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$1,421.37
Jackson									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	555	888	11	1,454	\$1,817.50	\$36.69	\$1,780.81	0.70	\$1,246.57
							Entity Tota	al:	\$1,246.57
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,246.57

Jerauld

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	723	1,383	22	2,128	\$2,660.00	\$53.46	\$2,606.54	0.70	\$1,824.58
							Entity Tota	ıl:	\$1,824.58
							Adjustmer	t:	\$0.00
							Total Amo	unt:	\$1,824.58

Jones

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	472	742	4	1,218	\$1,522.50	\$31.01	\$1,491.49	0.70	\$1,044.04
							Entity Tota	d:	\$1,044.04
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$1,044.04

Kingsbury

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	1,081	4,047	108	5,236	\$6,545.00	\$141.96	\$6,403.04	0.70	\$4,482.13

Entity Total: \$4,482.13

Adjustment: \$0.00

Total Amount:

\$4,482.13

Lang									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2022	0	0	40	40	\$50.00	\$0.00	\$50.00	0.70	\$35.00
2/2022	0	0	40	40	\$50.00	\$0.00	\$50.00	0.70	\$35.00
3/2022	2,360	9,101	274	11,735	\$14,668.75	\$325.96	\$14,342.79	0.70	\$10,039.95
7/2021	0	0	39	39	\$48.75	\$0.00	\$48.75	0.70	\$34.13
8/2021	0	0	39	39	\$48.75	\$0.00	\$48.75	0.70	\$34.13
9/2021	0	0	39	39	\$48.75	\$0.00	\$48.75	0.70	\$34.13
10/2021	0	0	39	39	\$48.75	\$0.00	\$48.75	0.70	\$34.13
11/2021	0	0	40	40	\$50.00	\$0.00	\$50.00	0.70	\$35.00
12/2021	0	0	40	40	\$50.00	\$0.00	\$50.00	0.70	\$35.00
							Entity Tota	al:	\$10,316.47
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$10,316.47
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	6,817	18,454	351	25,622	\$32,027.50	\$683.82	\$31,343.68	0.70	\$21,940.58
							Entity Tota	al:	\$21,940.58
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$21,940.58
Lincoln									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	3,304	24,783	3,577	31,664	\$39,580.00	\$905.49	\$38,674.51	0.70	\$27,072.16
							Entity Tota	al:	\$27,072.16
							Adjustmen	nt:	\$0.00
							Total Amo	unt:	\$27,072.16
Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

Lake

3/2022	955	1,884	384	3,223	\$4,028.75	\$85.91	\$3,942.84	0.70	\$2,759.99
							Entity Tota	al:	\$2,759.99
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,759.99
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	1,360	2,937	73	4,370	\$5,462.50	\$119.79	\$5,342.71	0.70	\$3,739.90
							Entity Tota	al:	\$3,739.90
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,739.90
McCook									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	1,771	4,370	28	6,169	\$7,711.25	\$160.15	\$7,551.10	0.70	\$5,285.77
							Entity Tota	al:	\$5,285.77
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,285.77
McPherson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	865	1,615	7	2,487	\$3,108.75	\$73.35	\$3,035.40	0.70	\$2,124.78
							Entity Tota	al:	\$2,124.78
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,124.78
Meade									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	2,719	19,140	156	22,015	\$27,518.75	\$590.24	\$26,928.51	0.70	\$18,849.96
							Entity Tota	al:	\$18,849.96
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$18,849.96

Mellette

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	522	746	6	1,274	\$1,592.50	\$32.27	\$1,560.23	0.70	\$1,092.16
							Entity Tota	al:	\$1,092.16
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,092.16

Miner

3/2022

22,568

88,147

2,647

113,362

\$141,702.50

\$3,038.77

\$138,663.73

0.70

\$97,064.61

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	900	1,717	41	2,658	\$3,322.50	\$71.09	\$3,251.41	0.70	\$2,275.99
							Entity Tota	l:	\$2,275.99
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$2,275.99
Minnehaha									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	36,311	160,474	5,908	202,693	\$253,366.25	\$5,430.09	\$247,936.16	0.70	\$173,555.31
							Entity Tota	l:	\$173,555.31
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$173,555.31
Moody									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	1,110	4,781	137	6,028	\$7,535.00	\$168.40	\$7,366.60	0.70	\$5,156.62
							Entity Tota	l:	\$5,156.62
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$5,156.62
Pennington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

							Entity Tota Adjustmer		\$97,064.61 \$0.00
							Total Amo		\$97,064.61
Perkins									. ,
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	1,616	2,350	12	3,978	\$4,972.50	\$109.56	\$4,862.94	0.70	\$3,404.06
							Entity Tota	al:	\$3,404.06
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,404.06
Potter									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	984	1,941	16	2,941	\$3,676.25	\$74.01	\$3,602.24	0.70	\$2,521.57
							Entity Tota	al:	\$2,521.57
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,521.57
Roberts									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	2,988	5,294	36	8,318	\$10,397.50	\$230.30	\$10,167.20	0.70	\$7,117.04
							Entity Tota	al:	\$7,117.04
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,117.04
Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	715	1,837	15	2,567	\$3,208.75	\$65.13	\$3,143.62	0.70	\$2,200.53
							Entity Tota	al:	\$2,200.53

Adjustment:

Total Amount:

\$0.00

\$2,200.53

Spink

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	1,607	4,653	88	6,348	\$7,935.00	\$163.03	\$7,771.97	0.70	\$5,440.38
							Entity Tota	l:	\$5,440.38
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$5,440.38
Stanley									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	651	2,274	54	2,979	\$3,723.75	\$78.79	\$3,644.96	0.70	\$2,551.47
							Entity Total:		\$2,551.47
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$2,551.47

Sully

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	549	1,208	2	1,759	\$2,198.75	\$45.05	\$2,153.70	0.70	\$1,507.59
							Entity Total:		\$1,507.59
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$1,507.59

Todd

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	0	132	8	140	\$175.00	\$13.87	\$161.13	0.70	\$112.79
							Entity Total:		\$112.79
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$112.79

Tripp

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	2,066	4,051	34	6,151	\$7,688.75	\$159.18	\$7,529.57	0.70	\$5,270.70

- Entity Total: \$5,270.70
- Adjustment: \$0.00

Total Amount:

\$5,270.70

Turner

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	1,860	6,571	49	8,480	\$10,600.00	\$217.28	\$10,382.72	0.70	\$7,267.90
							Entity Tota	I:	\$7,267.90
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$7,267.90
Union									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	2,441	11,557	634	14,632	\$18,290.00	\$453.44	\$17,836.56	0.70	\$12,485.59
							Entity Tota	I:	\$12,485.59
							Adjustmen	t:	\$0.00
							Total Amount:		\$12,485.59
Walworth									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	1,691	3,703	274	5,668	\$7,085.00	\$143.98	\$6,941.02	0.70	\$4,858.71
							Entity Tota	I:	\$4,858.71
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$4,858.71
Yankton									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2022	4,449	16,817	452	21,718	\$27,147.50	\$577.63	\$26,569.87	0.70	\$18,598.91
							Entity Tota	I:	\$18,598.91
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$18,598.91
TOTALS	185,213	639,736	23,520	848,469	\$1,060,586.25	\$22,715.83	\$1,037,870.42		